MAT 201, Quiz #9, Spring 2016 Name K.‘é\{

Instructions: Show all work. Answers without work required to obtain the solution will not receive full

credit. Some questions may contain multiple parts: be sure to answer all of them. Give exact answers
unless specifically asked to estimate.

1. For7(t) =+2ti + etj + ek, find the unit tangent vector and the unit normal vector.
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2. Find the equatign of the tangent plane to the function: Le__/ 'H) baﬂ&—m
a. z=x%+xy+3y?at(1,15)

F= R +%y +3yTa
AL
VE= (2xe)h + rtey)] -
SV & Af=k

3(x-0+Fy-1) - (2-8)=0
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3. Forz =sinfcos¢,p = s%t,0 = st?, use the chain rule to findg—z - 26 3% % '25
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4. Use partial derivatives to find g—; for the implicit function yz 4+ x Iny = z2.
Fz= ya+rhy =2%
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5. Find the Jacobian forx = v+ w2,y = w + u?,z = u + v2. j
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